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Abstract

This study took the initiative of investigating one of the most
modern techniques in cost accountancy , namely cost
determination according to the type of activity which is known as
Activity Based Costing (ABC) and its role towards achieving
accurate determination of unit product cost .

The purpose of this study is to highlight the role of the ABC
system in the absorption of cost of products within the total
overhead costs.

A very large number or may be almost all of the local industrial
establishment such as observed to unable to determine the need
cost of the unit product of their manufactured goods is a precise
and accurate way. That is because the top management in these
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factories are generally used to adopt the traditional total cost
theory, in the process of cost determination. This approach world
negatively affects the ability of these factories to compete in the
local or global markets.

In an attempt to find a solution to this problem the researcher
undertook this task starting with the following basic assumption:-

1) The real cost of the unit product cannot be calculated is a
fair and precise way if we depend only on the currently
applied costing techniques.

2) Calculating the cost of the unit product according to the type
of activity (ABC) leads to accurate and fair determination of
that cost .

3) Avoiding the implantation of the ABC system may lead the
organization to lose its ability to compete in the domestic or
world market.

In an attempt to prove the correctness of this assumption the
researcher undertook the task of collecting basic information and
basic data by the use of a questionnaire (distributed among the
study sample which composed a number industrial establishment
within Khartoum State). Data collected was analyzed by the use of
manual methods of analysis the following results were achieved:

1. Distribution of overhead costs by the use of traditional
method results in an improper determination of product
cost or unit cost.

2. The implementation of the ABC system would
successfully result in more accurate and fair determination
of product cost according to the size or amount of the
activity itself.

3. The adoption of ABC system helps in the provision of
detailed information about the different industrial
activities within a creation organization. Such information
was proved to be very essential for planning controlling
and decision making activities.

According to the above discussion we can conclude with the
following recommendations:

1. Industrial establishment should be classified into
activities instead of being classified into product service
sectors.

2. ABC system in which the cost of the activity is absorbed
in the cost of the product should be implemented
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according to amount of benefit obtained from these
activities.

. Costing department within industrial establishment
should be activated. and should be provided with
continuous training to equip them with the latest
advancement in the profession.



